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On teaching of inflection point

TA O Zhi-xiong
(School of Science, Zhgiang University of Science and Technology, Hangzhou 310023, China)

Abstract: Because of the reason that the exercises go beyond the concept about infection point
in some higher mathematics text books, under the premise of having no more difficulty than be-
fore, this paper gives a suggestion that the teaching content related to inflection point is properly
revised by adding both a simple and lucid criterion theorem and examples stated in this paper,
which aims at avoiding the teaching problems as above .
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